Mathematical Analysis and its Contemporary Applications Volume 4, Issue 4, 2022, 13–26 doi: 10.30495/maca.2022.1952804.1049 ISSN 2716-9898

Anti complex fuzzy Lie subalgebras under s-norms

Rasul Rasuli

ABSTRACT. The objectives of this article are to present the notions of anti complex fuzzy subalgebras and anti complex fuzzy ideals of Lie algebras under Snorms and we prove that the level subset of them are also subalgebras and ideals of Lie algebras, respectively. Next, we introduce the union and summation of them and we prove that the union and summation of them are also anti complex fuzzy subalgebras and anti complex fuzzy ideals of Lie algebras under S-norms, respectively. Finally, we investigate the homomorphic image (pre-image) of them under Lie homomorphisms.

1. Introduction

Sophus Lie (1842-1899) introduced Lie algebras. The branch of mathematics related to fuzzy set theory is known as fuzzy mathematics. In 1965, It was innovated after the seminal paper of Zadeh [18] on fuzzy sets, Who is the founder of this theory. A new concept of complex fuzzy sets was presented by Ramot et al. [3]. The extension of fuzzy sets to complex fuzzy sets is comparable to the extension of real numbers to complex numbers. The development of complex fuzzy sets can be viewed in [1]. Kim and Lee [2] considered the fuzzy Lie subalgebras and fuzzy Lie ideals and Yehia [16, 17] investigated them. The author by using norms investigated some properties of fuzzy algebraic structures [4]-[15]. In this study, we define anti-complex fuzzy subalgebras of Lie algebra L under S-norms(ACFSS(L)). We investigate their properties of them and characterize them with subalgebras of Lie algebras. Next using S-norms, we introduce anti-complex fuzzy ideals of Lie algebra

Key words and phrases. Lie algebras, ideals, fuzzy set theory, S-norms, complex fuzzy sets, unions, sums, homomorphisms



This work is licensed under the Creative Commons Attribution 4.0 International License. To view a copy of this license, visit http://creativecommons.org/licenses/by/4.0/.

²⁰²⁰ Mathematics Subject Classification. 17B62, 13A15, 03E72, 47A30, 55N45, 20K30.

RASUL RASULI

L(ACFIS(L)) and we link them with ideals of Lie algebras. Later, we obtain some results about ACFIS(L) and ACFSS(L) under homomorphisms of Lie algebras. Finally, we define the union and sum of the ACFIS(L) and ACFSS(L) and we prove that the union and summation of them are also ACFIS(L) and ACFSS(L), respectively. Finally, we prove that the homomorphic image (pre-image) of them under Lie homomorphisms will be also ACFIS(L) and ACFSS(L), respectively.

2. Preliminaries

In this section, we first review some elementary aspects that are necessary for this paper. For more details we refer the readers to [3, 4, 5].

Definition 2.1. A Lie algebra is a vector space L over a field F (equal to R or C) on which $L \times L \to L$ denoted by $(x, y) \to [x, y]$ is defined satisfying the following axioms:

(1) [x, y] is bilinear, (2) [x, x] = 0 for all $x \in L$, (3) [[x, y], z] + [[y, z], x] + [[z, x], y] = 0 (Jacobi identity), for all $x, y, z \in L$.

In this paper, L will be denoted as a Lie algebra. We note that the multiplication in a Lie algebra is not associative, i.e., it is not true in general that [[x, y], z] = [x, [y, z]]. But it is anti commutative, i.e., [x, y] = -[y, x]. A subspace H of L closed under [,] will be called a Lie subalgebra. A subspace I of L with the property $[I, L] \subseteq I$ will be called a Lie ideal of L. Obviously, any Lie ideal is a subalgebra.

Definition 2.2. Let L_1 and L_2 be Lie algebras over a field F. A linear transformation $f: L_1 \to L_2$ is called a Lie homomorphism if f([x, y]) = [f(x), f(y)] for all $x, y \in L_1$.

Definition 2.3. Let X be a nonempty set. A complex fuzzy set A on X is an object having the form $A = \{(x, \mu_A(x)) | x \in X\}$, where μ_A denotes the degree of membership function that assigns each element $x \in X$ a complex number $\mu_A(x)$) lies within the unit circle in the complex plane. We shall assume that is $\mu_A(x)$) will be represented by $r_A(x)e^{iw_A(x)}$ where $i = \sqrt{-1}$, and $r : X \to [0, 1]$ and $w : X \to [0, 2\pi]$. Note that by setting w(x) = 0 in the definition above, we return back to the traditional fuzzy subset. Let $\mu_1 = r_1 e^{w_1}$, and $\mu_2 = r_2 e^{w_2}$ be two complex numbers lie within the unit circle in the complex plane. By $\mu_1 \leq \mu_2$, we mean $r_1 \leq r_2$ and $w_1 \leq w_2$.

Definition 2.4. An *s*-norm *S* is a function $S : [0, 1] \times [0, 1] \rightarrow [0, 1]$ having the following four properties:

(1) S(x,0) = x, (2) $S(x,y) \le S(x,z)$ if $y \le z$, $\begin{array}{l} (3) \ S(x,y) = S(y,x), \\ (4) \ S(x,S(y,z)) = S(S(x,y),z) \ , \\ \text{for all } x,y,z \in [0,1]. \end{array}$

We say that S is idempotent if for all $x \in [0, 1]$, S(x, x) = x.

Example 2.5. The basic *S*-norms are

$$S_m(x, y) = \max\{x, y\},$$

$$S_b(x, y) = \min\{1, x + y\}$$

and

$$S_p(x,y) = x + y - xy$$

for all $x, y \in [0, 1]$, here, S_m is the standard union, S_b is the bounded sum, S_p is the algebraic sum.

Lemma 2.1. Let S be a s-norm. Then

$$S(S(x,y),S(w,z)) = S(S(x,w),S(y,z)),$$

for all $x, y, w, z \in [0, 1]$.

3. Anti complex fuzzy Lie subalgebras under S-norms

Definition 3.1. Let *L* be a Lie subalgebra and $\mu : L \to [0, 1]$ be a complex fuzzy set on *L*. Then $\mu = re^{iw}$ is said to be an anti complex fuzzy subalgebra of *L* under *s*-norm *S* if the following conditions hold:

(1) $r(x+y) \le S(r(x), r(y)),$

- (2) $r(\alpha x) \le r(x),$ (3) $r([x,y]) \le S(r(x), r(y)),$
- (4) $w(x+y) \le \max\{w(x), w(y)\},\$
- (5) $w(\alpha x) \le w(x)$,
- (6) $w([x, y]) \le \max\{w(x), w(y), w(y)$

for all $x, y \in L$ and $\alpha \in F$.

Denote by ACFSS(L), the set of all anti complex fuzzy subgroups of L under s-norm S.

Definition 3.2. Let *L* be a Lie subalgebra and $\mu : L \to [0,1]$ be a complex fuzzy set on *L*. Then $\mu = re^{iw}$ is said to be an anti complex fuzzy Lie ideal of *L* under *s*-norm *S* if the following conditions hold:

(1) $r(x+y) \leq S(r(x), r(y)),$ (2) $r(\alpha x) \leq r(x),$ (3) $r([x,y]) \leq r(x),$ (4) $w(x+y) \leq \max\{w(x), w(y)\},$ (5) $w(\alpha x) \leq w(x),$

RASUL RASULI

(6) $w([x, y]) \leq w(x)$, for all $x, y \in L$ and $\alpha \in F$. Denote by ACFIS(L), the set of all anti complex fuzzy Lie ideals of L under s-norm S.

Example 3.3. It is well known that the set $\mathbf{R}^3 = \{(x, y, z) : x, y, z \in \mathbf{R}\}$ of all 3-dimensional real vectors forms a Lie algebra over $F = \mathbf{R}$ with the usual cross product \times . Define $\mu : \mathbf{R}^3 \to \mathbf{E}^2$, where (\mathbf{E}^2 is the unit disc), by

$$\mu(x, y, z) = \begin{cases} 0 & \text{if } x = y = z = 0\\ 0.45e^{i\frac{\pi}{2}} & \text{if } x = y = 0 \text{ and } z \neq 0\\ 0.75e^{i\frac{3\pi}{4}} & \text{otherwise} \end{cases}$$

if S(a,b) = a + b - ab for all $a, b \in [0,1]$, then $\mu \in ACFSS(L)$. Let $x = (0,0,2) \in L = \mathbf{R}^3$ and $y = (1,0,0) \in L = \mathbf{R}^3$ then [x,y] = (0,1,0) and so $r([x,y]) = r(0,-2,0) = 0.75 \leq 0.45 = r(x)$ thus $\mu \notin ACFIS(L)$.

Lemma 3.1. Let $\mu \in ACFSS(L)$ and S be an idempotent s-norm. (1) $\mu(0) \leq \mu(x)$ for all $x \in L$. (2) $\mu(x) = \mu(-x)$ for all $x \in L$. (3) $\mu([x,y]) = \mu([y,x])$ for all $x, y \in L$. (4) $\mu(x-y) = \mu(0)$ implies that $\mu(x) = \mu(y)$ for all $x, y \in L$.

PROOF. (1) Let $x \in L$. As

$$r(0) = r(x + (-x)) \le S(r(x), r(-x)) \le S(r(x), r(x)) = r(x)$$

and

$$w(0) = w(x + (-x)) \le \max\{w(x), w(-x)\} \le \max\{w(x), w(x)\} = w(x)$$

thus $r(0) \le r(x)$ and $w(0) \le w(x)$ thus $\mu(0) = r(0)e^{iw(0)} \le r(x)e^{iw(x)} = \mu(x)$. (2) Let $x \in L$. Thus

$$r(-x) = r((-1)x) \le r(x) = r(-(-x)) \le r(-x)$$

and

$$w(-x) = w((-1)x) \le w(x) = w(-(-x)) \le w(-x)$$

so r(x) = r(-x) and w(x) = w(-x) then $\mu(x) = r(x)e^{iw(x)} = r(-x)e^{iw(-x)} = \mu(-x)$. (3) Let $x, y \in L$. Then r([x, y]) = r(-[y, x]) = r([y, x]) and w([x, y]) = w(-[y, x]) = w([y, x]) so

$$\mu([x,y]) = r([x,y])e^{iw([x,y])} = r([y,x])e^{iw([y,x])} = \mu([y,x]).$$

(4) Let $x, y \in L$. Now

$$\begin{aligned} r(y) &= r(x - (x - y)) \\ &= r(x + (-(x - y))) \\ &\leq S(r(x), r(-(x - y))) \\ &= S(r(x), r(x - y)) \\ &= S(r(x), r(x)) \\ &\leq S(r(x), r(x)) \\ &= r(x) \\ &= r(x) \\ &= r(x - y + y) \\ &\leq S(r(x - y), r(y)) \\ &= S(r(0), r(y)) \\ &\leq S(r(y), r(y)) \\ &= r(y) \end{aligned}$$

thus r(x) = r(y). Also

$$w(y) = w(x - (x - y))$$

= $w(x + (-(x - y)))$
 $\leq \max\{w(x), w(-(x - y))\}$
= $\max\{w(x), w(x - y)\}$
= $\max\{w(x), w(0)\}$
 $\leq \max\{w(x), w(0)\}$
= $w(x)$
= $w(x)$
= $w(x)$
 $\leq \max\{w(x - y), w(y)\}$
= $\max\{w(0), w(y)\}$
 $\leq \max\{w(y), w(y)\}$
= $w(y)$

thus w(x) = w(y). Therefore $\mu(x) = r(x)e^{iw(x)} = r(y)e^{iw(y)} = \mu(y)$.

Proposition 3.2. Let L be a Lie subalgebra and $\mu : L \to [0,1]$ be a complex fuzzy set on L. If S be idempotent s-norm, then the following statements are equivalent: (1) $\mu = re^{iw} \in ACFSS(L)$. (2) The set

$$L^{t}_{\mu} = \{x \in L \mid \mu(x) = r(x)e^{iw(x)} \le t\} = \{x \in L \mid r(x) \le t, w(x) \le t\}$$

is a subalgebra of L for every $t \in Im(\mu)$.

PROOF. Let $\mu = re^{iw} \in ACFSS(L)$ and $x, y \in L^t_{\mu}$ and $\alpha \in F$. We must prove that $x + y, \alpha x, [x, y] \in L^t_{\mu}$. As

$$r(x+y) \leq S(r(x), r(y)) \leq S(t, t) = t,$$

$$w(x+y) \leq \max\{w(x), w(y)\} \leq w\{t, t\} = t,$$

$$r(\alpha x) \leq r(x) \leq t,$$

$$w(\alpha x) \leq w(x) \leq t,$$

$$r([x, y]) \leq S(r(x), r(y)) \leq S(t, t) = t$$

and

$$w([x, y]) \le \max\{w(x), w(y)\} \le w\{t, t\} = t,$$

we get that $x+y, \alpha x, [x, y] \in L^t_{\mu}$. Then L^t_{μ} will be subalgebra of L for every $t \in Im(\mu)$. Conversely, let L^t_{μ} be a Lie subalgebra of L for every $t \in Im(\mu)$. Let $x, y \in L$ and $\alpha \in F$. We can say that $\mu(y) \leq \mu(x) = t$ so $r(y) \leq r(x) = t$ and $w(y) \leq w(x) = t$ thus $x, y \in L^t_{\mu}$ and then $x + y, \alpha x, [x, y] \in L^t_{\mu}$. Since

$$r(x+y) \le t = S(r(x), r(y)),$$

$$w(x+y) \le t = \max\{w(x), w(y)\},$$

$$r(\alpha x) \le t = r(x),$$

$$w(\alpha x) \le t = w(x),$$

$$r([x, y]) \le t = S(r(x), r(y)),$$

and

$$w([x,y]) \leq t = \max\{w(x),w(y)\}.$$
 So $\mu = re^{iw} \in ACFSS(L).$

Corollary 3.3. Let L be a Lie subalgebra and $\mu : L \to [0,1]$ be a complex fuzzy set on L. If S be idempotent s-norm, then the following statements are equivalent: (1) $\mu = re^{iw} \in ACFSS(L)$. (2) The set

$$L^{t}_{\mu} = \{ x \in L \mid \mu(x) = r(x)e^{iw(x)} < t \} = \{ x \in L \mid r(x) < t, w(x) < t \}$$

is a subalgebra of L for every $t \in Im(\mu)$.

Proposition 3.4. Let L be a Lie subalgebra and $\mu : L \to [0, 1]$ be a complex fuzzy set on L. If S be idempotent s-norm, then the following statements are equivalent: (1) $\mu = re^{iw} \in ACFIS(L)$.

(2) The set

$$L^{t}_{\mu} = \{x \in L \mid \mu(x) = r(x)e^{iw(x)} \le t\} = \{x \in L \mid r(x) \le t, w(x) \le t\}$$

is an ideal of L for every $t \in Im(\mu)$.

PROOF. See proof of Proposition 3.2.

Corollary 3.5. Let L be a Lie subalgebra and $\mu : L \to [0,1]$ be a complex fuzzy set on L. If S be idempotent s-norm, then the following statements are equivalent: (1) $\mu = re^{iw} \in ACFSS(L)$. (2) The set

$$L^{t}_{\mu} = \{ x \in L \mid \mu(x) = r(x)e^{iw(x)} < t \} = \{ x \in L \mid r(x) < t, w(x) < t \}$$

is an ideal of L for every $t \in Im(\mu)$.

Definition 3.4. Let $f : G \to H$ be a mapping and $\mu_G = r_G e^{iw_G}$ and $\mu_H = r_H e^{iw_H}$ be two complex fuzzy sets on G and H, respectively. Define $f(\mu_G) : H \to [0, 1]$ as

$$f(\mu_G) = f(r_G e^{iw_G}) = f(r_G)e^{if(w_G)}$$

such that for all $h \in H$ we define

$$f(r_G)(h) = \inf\{r_G(g) \mid g \in G, f(g) = h\}$$

and

$$f(w_G)(h) = \inf\{w_G(g) \mid g \in G, f(g) = h\}.$$

Also define $f^{-1}(\mu_H): G \to [0,1]$ as

$$f^{-1}(r_H e^{iw_H}) = f^{-1}(r_H) e^{if^{-1}(w_H)}$$

such that for all $g \in G$ we define

$$f^{-1}(r_H e^{iw_H})(g) = r_H(f(g))e^{iw_H(f(g))}.$$

Proposition 3.6. Let $\mu_L = r_L e^{iw_L} \in ACFSS(L)$ and $f : L \to M$ be an epimorphism of Lie algebras. Then $f(\mu_L) \in ACFSS(M)$.

PROOF. (1) Let $m_1, m_2 \in M$ and $l_1, l_2 \in L$ such that $m_1 = f(l_1)$ and $m_2 = f(l_2)$. Then

$$\begin{aligned} f(r_L)(m_1 + m_2) &= \inf\{r_L(l_1 + l_2) \mid l_1, l_2 \in L, f(l_1 + l_2) = m_1 + m_2\} \\ &\leq \inf\{S(r_L(l_1), r_L(l_2)) \mid l_1, l_2 \in L, f(l_1) = m_1, f(l_2) = m_2\} \\ &= S(\inf\{r_L(l_1) \mid l_1 \in L, f(l_1) = m_1\}, \inf\{r_L(l_2) \mid l_2 \in L, f(l_2) = m_2\}) \\ &= S(f(r_L)(m_1), f(r_L)(m_2)) \end{aligned}$$

thus

$$f(r_L)(m_1 + m_2) \le S(f(r_L)(m_1), f(r_L)(m_2))$$

Also

$$f(w_L)(m_1 + m_2) = \inf\{w_L(l_1 + l_2) \mid l_1, l_2 \in L, f(l_1 + l_2) = m_1 + m_2\}$$

$$\leq \inf\{\max\{w_L(l_1), w_L(l_2)\} \mid l_1, l_2 \in L, f(l_1) = m_1, f(l_2) = m_2\}$$

$$= \max\{\inf\{w_L(l_1) \mid l_1 \in L, f(l_1) = m_1\}, \inf\{w_L(l_2)\} \mid l_2 \in L, f(l_2) = m_2\})$$

$$= \max\{f(r_L)(m_1), f(r_L)(m_2)\}$$

then

$$f(w_L)(m_1 + m_2) \le \max\{f(w_L)(m_1), f(w_L)(m_2)\}$$

(2) Let
$$m \in M, \alpha \in F$$
 and $l \in L$ such that $m = f(l)$. Now
 $f(r_L)(\alpha m) = \inf\{r_L(\alpha l) \mid l \in L, f(\alpha l) = \alpha m\} \leq \inf\{r_L(l) \mid l \in L, f(l) = m\} = f(r_L)(m)$
and

$$f(w_L)(\alpha m) = \inf\{w_L(\alpha l) \mid l \in L, f(\alpha l) = \alpha m\} \le \inf\{w_L(l) \mid l \in L, f(l) = m\} = f(w_L)(m).$$
(3) Let $m_1, m_2 \in M$ and $l_1, l_2 \in L$ such that $m_1 = f(l_1)$ and $m_2 = f(l_2)$. As
$$f(r_L)([m_1, m_2]) = \inf\{r_L([l_1, l_2]) \mid l_1, l_2 \in L, f([l_1, l_2]) = [m_1, m_2]\}$$

$$\le \inf\{S(r_L(l_1), r_L(l_2)) \mid l_1, l_2 \in L, ([f(l_1), f(l_2)]) = [m_1, m_2]\}$$

$$= S(\inf\{r_L(l_1) \mid l_1 \in L, f(l_1) = m_1\}, \inf\{r_L(l_2) \mid l_2 \in L, f(l_2) = m_2\})$$

$$= S(f(r_L)(m_1), f(r_L)(m_2))$$

then

$$f(r_L)([m_1, m_2]) \le S(f(r_L)(m_1), f(r_L)(m_2))$$

Moreover

$$f(w_L)([m_1, m_2]) = \inf\{w_L([l_1, l_2]) \mid l_1, l_2 \in L, f([l_1, l_2]) = [m_1, m_2]\}$$

$$\leq \inf\{\max\{w_L(l_1), w_L(l_2)\} \mid l_1, l_2 \in L, ([f(l_1), f(l_2)]) = [m_1, m_2]\}$$

$$= \max\{\inf\{w_L(l_1) \mid l_1 \in L, f(l_1) = m_1\}, \inf\{w_L(l_2) \mid l_2 \in L, f(l_2) = m_2\}\}$$

$$= \max\{f(w_L)(m_1), f(w_L)(m_2)\}$$

then

$$f(w_L)([m_1, m_2]) \le \max\{f(w_L)(m_1), f(w_L)(m_2)\}.$$

Therefore (1) - (3) mean that $f(\mu_L) = f(r_L e^{iw_L}) = f(r_L) e^{if(w_L)} \in ACFSS(M)$. \Box

Proposition 3.7. Let $\mu_L = r_L e^{iw_L} \in ACFIS(L)$ and $f: L \to M$ be an epimorphism of Lie algebras. Then $f(\mu_L) \in ACFIS(M)$.

PROOF. The proof is similart to the proof of Proposition 3.6.

Proposition 3.8. Let $\mu_M = r_M e^{iw_M} \in ACFSS(M)$ and $f : L \to M$ be an epimorphism of Lie algebras. Then $f^{-1}(\mu_M) \in ACFSS(L)$.

PROOF. (1) Let $l_1, l_2 \in L$. Thus

$$f^{-1}(r_M)(l_1 + l_2) = r_M(f(l_1 + l_2))$$

= $r_M(f(l_1) + f(l_2))$
= $r_M(f(l_1) + f(l_2))$
 $\leq S(r_M(f(l_1), r_M(f(l_2)))$
= $S(f^{-1}(r_M)(l_1), f^{-1}(r_M)(l_2))$

and

$$f^{-1}(w_M)(l_1 + l_2) = w_M(f(l_1 + l_2))$$

= $w_M(f(l_1) + f(l_2))$
= $w_M(f(l_1) + f(l_2))$
 $\leq \max\{w_M(f(l_1), w_M(f(l_2))\}$
= $\max\{f^{-1}(w_M)(l_1), f^{-1}(w_M)(l_2)\}$

and so

$$f^{-1}(r_M)(l_1+l_2) \le S(f^{-1}(r_M)(l_1), f^{-1}(r_M)(l_2))$$

and

$$f^{-1}(w_M)(l_1+l_2) \le \max\{f^{-1}(w_M)(l_1), f^{-1}(w_M)(l_2)\}.$$

(2) Let $l_1, l_2 \in L$. Now

$$f^{-1}(r_M)([l_1, l_2]) = r_M(f([l_1, l_2]))$$

= $r_M([f(l_1), f(l_2)])$
 $\leq S(r_M(f(l_1), r_M(f(l_2)))$
= $S(f^{-1}(r_M)(l_1), f^{-1}(r_M)(l_2))$

and

$$f^{-1}(w_M)([l_1, l_2]) = w_M(f([l_1, l_2]))$$

= $w_M([f(l_1), f(l_2)])$
 $\leq \max\{w_M(f(l_1), w_M(f(l_2))\}$
= $\max\{f^{-1}(w_M)(l_1), f^{-1}(w_M)(l_2)\}$

then

$$f^{-1}(r_M)([l_1, l_2]) \le S(f^{-1}(r_M)(l_1), f^{-1}(r_M)(l_2))$$

and

$$f^{-1}(w_M)([l_1, l_2]) \le \max\{f^{-1}(w_M)(l_1), f^{-1}(w_M)(l_2)\}.$$

(3) Let $l \in L$ and $\alpha \in F$. Then

$$f^{-1}(r_M)(\alpha l) = r_M(f(\alpha l)) = r_M(\alpha f(l)) \le r_M(f(l)) = f^{-1}(r_M)(l)$$

and

$$f^{-1}(w_M)(\alpha l) = w_M(f(\alpha l)) = w_M(\alpha f(l)) \le w_M(f(l)) = f^{-1}(w_M)(l).$$

Then from (1)-(3) we get that $f^{-1}(\mu_M) \in ACFSS(L)$.

Proposition 3.9. Let $\mu_M = r_M e^{iw_M} \in ACFIS(M)$ and $f : L \to M$ be an epimorphism of Lie algebras. Then $f^{-1}(\mu_M) \in ACFIS(L)$.

PROOF. It is similar to the proof of Proposition 3.8.

Definition 3.5. Let $\mu_1 = r_1 e^{iw_1}$ and $\mu_2 = r_2 e^{iw_2}$ be two complex fuzzy sets on L. Define the union $\mu_1 \cup \mu_2$ as

$$\mu_1 \cup \mu_2 = r_1 e^{iw_1} \cup r_2 e^{iw_2} = (r_1 \cup r_2) e^{i(w_1 \cup w_2)}$$

such that $r_1 \cup r_2 : L \to [0,1]$ and $w_1 \cup w_2 : L \to [0,2\pi]$ and for all $x \in L$ define

 $(r_1 \cup r_2)(x) = S(r_1(x), r_2(x))$

and

$$(w_1 \cup w_2)(x) = \max\{w_1(x), w_2(x)\}.$$

Proposition 3.10. Let $\mu_1 = r_1 e^{iw_1} \in ACFSS(L)$ and $\mu_2 = r_2 e^{iw_2} \in ACFSS(L)$. Then $\mu_1 \cup \mu_2 \in ACFSS(L)$.

PROOF. Let $x, y \in L$ and $\alpha \in F$. Then (1)

$$(r_1 \cup r_2)(x+y) = S(r_1(x+y), r_2(x+y))$$

$$\leq S(S(r_1(x), r_1(y)), S(r_2(x), r_2(y)))$$

$$= S(S(r_1(x), r_2(x)), S(r_1(y), r_2(y)))$$

$$= S((r_1 \cup r_2)(x), (r_1 \cup r_2)(y))$$

and

$$(w_1 \cup w_2)(x+y) = \max\{w_1(x+y), w_2(x+y)\} \\ \leq \max\{\max\{w_1(x), w_1(y)\}, \max\{w_2(x), w_2(y)\}\} \\ = \max\{\max\{w_1(x), w_2(x)\}, \max\{w_1(y), w_2(y)\}\} \\ = \max\{(w_1 \cup w_2)(x), (w_1 \cup w_2)(y)\}$$

thus

$$(r_1 \cup r_2)(x+y) \le S((r_1 \cup r_2)(x), (r_1 \cup r_2)(y))$$

and

$$(w_1 \cup w_2)(x+y) \le \max\{(w_1 \cup w_2)(x), (w_1 \cup w_2)(y)\}\$$

22

(2)

$$(r_1 \cup r_2)([x, y]) = S(r_1([x, y]), r_2([x, y]))$$

$$\leq S(S(r_1(x), r_1(y)), S(r_2(x), r_2(y)))$$

$$= S(S(r_1(x), r_2(x)), S(r_1(y), r_2(y)))$$

$$= S((r_1 \cup r_2)(x), (r_1 \cup r_2)(y))$$

 \mathbf{SO}

$$(r_1 \cup r_2)([x, y)] \le S((r_1 \cup r_2)(x), (r_1 \cup r_2)(y)).$$

Also

$$(w_1 \cup w_2)([x, y]) = \max\{w_1([x, y]), w_2([x, y])\} \\ \leq \max\{\max\{w_1(x), w_1(y)\}, \max\{w_2(x), w_2(y)\}\} \\ = \max\{\max\{w_1(x), w_2(x)\}, \max\{w_1(y), w_2(y)\}\} \\ = \max\{(w_1 \cup w_2)(x), (w_1 \cup w_2)(y)\}$$

thus

$$(w_1 \cup w_2)([x, y]) \le \max\{(w_1 \cup w_2)(x), (w_1 \cup w_2)(y)\}.$$

(3)

$$(r_1 \cup r_2)(\alpha x) = S(r_1(\alpha x), r_2(\alpha x)) \le S(r_1(x), r_2(x)) = (r_1 \cup r_2)(x)$$

and

$$(w_1 \cup w_2)(\alpha x) = \max\{w_1(\alpha x), w_2(\alpha x)\} \le \max\{w_1(x), w_2(x)\} = (w_1 \cup w_2)(x).$$

Thus (1)-(3) give us that $\mu_1 \cup \mu_2 \in ACFSS(L)$.

Proposition 3.11. Let $\mu_1 = r_1 e^{iw_1} \in ACFIS(L)$ and $\mu_2 = r_2 e^{iw_2} \in ACFIS(L)$. Then $\mu_1 \cup \mu_2 \in ACFIS(L)$.

PROOF. It is similar to the proof of Proposition 3.10.

Definition 3.6. Let $\mu_1 = r_1 e^{iw_1}$ and $\mu_2 = r_2 e^{iw_2}$ be two complex fuzzy sets on L. Define the sum $\mu_1 + \mu_2$ as

$$\mu_1 + \mu_2 = r_1 e^{iw_1} + r_2 e^{iw_2} = (r_1 + r_2)e^{i(w_1 + w_2)}$$

such that $r_1 + r_2 : L \to [0, 1]$ and $w_1 + w_2 : L \to [0, 2\pi]$ and for all $x \in L$ define

$$(r_1 + r_2)(x) = \inf_{x=a+b} S(r_1(a), r_2(b))$$

and

$$(w_1 + w_2)(x) = \max_{x=a+b} \{w_1(a), w_2(b)\}.$$

Proposition 3.12. Let $\mu_1 = r_1 e^{iw_1} \in ACFSS(L)$ and $\mu_2 = r_2 e^{iw_2} \in ACFSS(L)$. Then $\mu_1 + \mu_2 \in ACFSS(L)$. PROOF. Let $x, y, a, b, c, d \in L$ and $\alpha \in F$. (1)

$$\begin{aligned} (r_1 + r_2)(x + y) &= \inf_{x+y=a+b+c+d} S(r_1(a + b), r_2(c + d)) \\ &\leq \inf_{x+y=a+b+c+d} S(S(r_1(a), r_1(b)), S(r_2(c), r_2(d))) \\ &= \inf_{x+y=a+c+b+d} S(S(r_1(a), r_2(c)), S(r_1(b), r_2(d))) \\ &= S(\inf_{x=a+c} S(r_1(a), r_2(c)), \inf_{y=b+d} S(r_1(b), r_2(d))) \\ &= S((r_1 + r_2)(x), (r_1 + r_2)(y)) \end{aligned}$$

and then

$$(r_1 + r_2)(x + y) \le S((r_1 + r_2)(x), (r_1 + r_2)(y)).$$

Also

$$(w_{1} + w_{2})(x + y) = \max_{x+y=a+b+c+d} \{w_{1}(a + b), w_{2}(c + d)\}$$

$$\leq \max_{x+y=a+b+c+d} \{\max\{w_{1}(a), w_{1}(b)\}, \max\{w_{2}(c), w_{2}(d)\}\}$$

$$= \max_{x+y=a+c+b+d} \{\max\{w_{1}(a), w_{2}(c)\}, \max\{w_{1}(b), w_{2}(d)\}\}$$

$$= \max\{\min_{x=a+c} \{w_{1}(a), w_{2}(c)\}, \max_{y=b+d} \{w_{1}(b), w_{2}(d)\}\}$$

$$= \max\{(w_{1} + w_{2})(x), (w_{1} + w_{2})(y)\}$$

and then

$$(w_1 + w_2)(x + y) \le \max\{(w_1 + w_2)(x), (w_1 + w_2)(y)\}.$$

(2)

$$(r_{1} + r_{2})([x, y]) = \inf_{[x,y]=[a,b]+[c,d]} S(r_{1}([a, b]), r_{2}([c, d]))$$

$$\leq \inf_{[x,y]=[a,b]+[c,d]} S(S(r_{1}(a), r_{1}(b)), S(r_{2}(c), r_{2}(d)))$$

$$= \inf_{[x,y]=[a+c,b+d]} S(S(r_{1}(a), r_{2}(c)), S(r_{1}(b), r_{2}(d)))$$

$$= S(\inf_{x=a+c} S(r_{1}(a), r_{2}(c)), \inf_{y=b+d} S(r_{1}(b), r_{2}(d)))$$

$$= S((r_{1} + r_{2})(x), (r_{1} + r_{2})(y))$$

 \mathbf{SO}

$$(r_1 + r_2)([x, y]) \le S((r_1 + r_2)(x), (r_1 + r_2)(y)).$$

Also

$$(w_{1} + w_{2})([x, y]) = \max_{[x, y] = [a, b] + [c, d]} \{w_{1}([a, b]), w_{2}([c, d])\}$$

$$\leq \max_{[x, y] = [a, b] + [c, d]} \{\max\{w_{1}(a), w_{1}(b)\}, \max\{w_{2}(c), w_{2}(d)\}\}$$

$$= \max_{[x, y] = [a+c, b+d]} \{\max\{w_{1}(a), w_{2}(c)\}, \max\{w_{1}(b), w_{2}(d)\}\}$$

$$= \max\{\max_{x=a+c} \{w_{1}(a), w_{2}(c)\}, \max_{y=b+d} \{w_{1}(b), w_{2}(d)\}\}$$

$$= \max\{(w_{1} + w_{2})(x), (w_{1} + w_{2})(y)\}.$$

Thus

$$(w_1 + w_2)(x + y) \le \max\{(w_1 + w_2)(x), (w_1 + w_2)(y)\}.$$

(3)

$$(r_1 + r_2)(\alpha x) = \inf_{\alpha x = \alpha a + \alpha b} S(r_1(\alpha a), r_2(\alpha b)) \le \inf_{x = a + b} S(r_1(a), r_2(b)) = (r_1 + r_2)(x)$$

and

$$(w_1 + w_2)(\alpha x) = \max_{\alpha x = \alpha a + \alpha b} \{ w_1(\alpha a), w_2(\alpha b) \} \le \max_{x = a + b} \{ w_1(a), w_2(b) \} = (w_1 + w_2)(x).$$

Then from (1)-(3) we get that $\mu_1 + \mu_2 \in ACFSS(L)$.

Proposition 3.13. Let $\mu_1 = r_1 e^{iw_1} \in ACFIS(L)$ and $\mu_2 = r_2 e^{iw_2} \in ACFIS(L)$. Then $\mu_1 + \mu_2 \in ACFIS(L)$.

PROOF. It is similar to the proof of Proposition 3.12.

Acknowledgment

The author will be extremely grateful to the learned reviewers for their valuable comments and suggestions which help him a lot for improving the standard of this paper.

References

- S. Dick, R. R. Yager and O. Yazdanbakhsh, On pythagorean and complex fuzzy set operation, IEEE Trans. Fuzzy Syst., 24(2015), 1009-1021.
- [2] C. Kim and D. Lee, Fuzzy Lie ideals and fuzzy Lie subalgebras, Fuzzy Sets Syst., 94(1998), 101-107.
- [3] D. Ramot, M. Friedman, G. Langholz and A. Kandel, *Complex fuzzy logic*, IEEE Trans. Fuzzy Syst., 11(4)(2003), 450-461.
- [4] R. Rasuli, Anti complex fuzzy subgroups under s-norms, Eng. Appl. Sci. Lett. (EASL), 3(4)(2020), 1-10.
- [5] R. Rasuli, Norms over fuzzy Lie algebra, J. New Theory, 15(2017), 32-38.
- [6] R. Rasuli, Conorms over conjugates and generalized characterestics of anti Q-fuzzy subgroups, 3rd national Conference on Management and Fuzzy Systems, University of Eyvanekey, Eyvanekey, Iran, 2021.

RASUL RASULI

- [7] R. Rasuli, Fuzzy congruence on product lattices under T-norms, J. Inf. Optim. Sci., 42(2)(2021), 333-343.
- [8] R. Rasuli, Intuitionistic fuzzy congruences on product lattices under norms, J. Interdiscip. Math., 24(5)(2021), 1281-1304.
- [9] R. Rasuli, Conorms over level subsets and translations of anti Q-fuzzy Subgroups, Int. J. Math. Comput., 32(2)(2021), 55-67.
- [10] R. Rasuli, Norms on intuitionistic fuzzy muligroups, Yugoslav J. Oper. Res., 31(3)(2021), 339-362.
- [11] R. Rasuli, Norms on intuitionistic fuzzy SU-subalgebras, Scientia Magna, 16(1)(2021), 84-96.
- [12] R. Rasuli, Norms on intuitionistic fuzzy congruence relations on rings, Notes on Intuitionistic Fuzzy Sets, 27(3)(2021), 51-68.
- [13] R. Rasuli, Bifuzzy d-algebras under norms, Math. Anal. Contemp. Appl., 3(4)(2021), 63-83.
- [14] R. Rasuli, Fuzzy relations on modules under T-norms, The Fourth Int. Conf. Soft Comput., University of Guilan, December 29-30, 2021.
- [15] R. Rasuli, t-norms over fuzzy ideals (implicative, positive implicative) of BCK-algebras, Math. Anal. Contemp. Appl., 4(2)(2022), 17-34.
- [16] S. E. Yehia, Fuzzy ideals and fuzzy subalgebras of Lie algebras, Fuzzy Sets Syst., 80(1996), 237-244.
- [17] S. E. Yehia, The adjoint representation of fuzzy Lie algebras, Fuzzy Sets Syst. 119(2001), 409-417.
- [18] L. A. Zadeh, Fuzzy sets, Inf. Control., 8(1965), 338-353.

DEPARTMENT OF MATHEMATICS, PAYAME NOOR UNIVERSITY (PNU), P. O. BOX 19395-4697, TEHRAN, IRAN

Email address: rasulirasul@yahoo.com,

Received : February 2022 Accepted : June 2022